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3 Xl Maths
3 Part - Il
NSwer any 7 questions. (Q.No.30 is compulsory) 7x2=14
-1 3 i
Find the rank by minor method : | 4 =7
: 3 =4|

B cos® -sinf|
rove that sind  cosp | I8 Orthogonal.

Write in rectangular form : (5+9i)+ (2-4)

Show that .[Z =2 —i| = 3 represent a circle.and find its centre and radius.

ra and B are the roots of the quadratic equation 17x2 + 43x — 73 = 0, construct a
q.uadratlc equation whose roots are a + 2 and f + 2 |

Find a p?lynomlal equation of minimum degree with rational coefficients having 2i+3
as a root. : -
Find all the values of x such that ~10r < x < 10z and sinx = 0

Fm_d the general equation of the circle whose diameter is the line segment joining the
points (—4,—2) and (1,1) .

If&=-2]+3K, 6=2i+]-2k, 6= 3i+2]+k.find &. xc)
204

Prove that 2 (‘nﬂ + imz): 0
n=1 i

Part - lll
Answer any 7 questions. (Q.No.40 is compulsory) 7x3=21
Solve by matrix inversion method : 2x—y =8, 3x +2y= -2 '

1 28

Find the rank of the matrix § (1) : ‘by reducing it to a row-echelon form.

If|z] = 3, showthat 7 < |z + 6 - 8i| <13

If @ # 1 is a cube root of unity, show that (1 + © + ©2)® + (1 + © — ©2)8 = 128
Solve : x3 - 3x2-33x+35=0

Find the exact number of real and imaginary zeros of the polynomial
x% + 9x7 + 7x5 + 5x3 + 3x

1

o 41 =M ;
Find the value of tan™'(-1)+cos 1[5] +sin ‘(-Z_J
Prqve that cos™(cos 10) = 4n — 10
A particle acted on by constant forces 8i +2j-6k and 6i+2j- 2k is displaced from

the point (1,2,3) to the point (5,4,1), prove that work done by forces is 80 units.
Find the equations of the tangent and normal to the circle x? + y2 = 25 at P(-3,4)
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4 Xl Maths .

- Part- IV
IV. Answer all the questions. 7 7x5=35

cosa 0 sina

Fe)=| 0 1 o
41. a) If , show that L
-sina 0 cosa [F(a)]— B s
b) If2+iand 3 ~y2 are roots of the equation ,
X = 13x5 + 62x4 — 126x° + 65x2 + 127x — 140 = 0. Find all roots.
42. a) Ifz,, z, and z, are three complex numbers such that 241 =1, |25] =2, |z} = 3 and
121 * 2, *+ 2, = 1. Show that 92,2, + 42,2, + Z,2;| = 6 (OR) '
b) Find the domain of f(x) = -

f(x)= sin"{l—xgg] + cos‘1(1hlx I]

43. a) Ifz=x+iyis acomplex number such that 'm[
i82x2+2y2+ x~2y=0

2z +1
iz+1

] =0 _ Show that the locus of z

(OR)

b) Ifthe equations x2 + px + q =0 and x2 + p'x + ¢'= 0 have a common root, show that

Pd-P'a  q-¢

_ a-q¢ % pp o

44. a) Find the vertex, focus, directrix and length of latus rectum of the parabola
x2—4x-5y-1=0 (OR) -

' b) Prove by vector method : cos(a. — B) = cosa cosP + sina sinp. _ :

45. a) Investigate the values of A and p the system of linear equation 2x + 3y + 5z = 9,
7x + 3y — 52 =8, 2x + 3y + Az = p, have (i) no solution (ii) a unique solution
(iii) an infinite number of solutions. (OR)

b) Find the non-parametric form of vector equation and cartesian equation of the
} | plane passing through the point (2,3,6) and parallel to the straight line

X-1_ y+1 z-3 X+3 y-3 z+1
s N s

. it must be equal to

46. a) Evaluate:._Sir{sin“1[-§—]+sec'1(%ﬂ - (OR)

| b) Solve by Cramer's rule : 3x + 3y -z =11, 2x—-y+2z=9, 4x + 3y + 22 = 25
| 47. a) A bridge has a parabolic arch that is 10 m high in the centre and 30 m wide at the
bottom. Find the height of the arch 6 m from the centre on either. sides. (OR)

; ‘4 .
; b) If 2ma=x+% and 20053=Y+;.showthat.

e | ; :
i) xy—-x;=2lsin(a+|3) i xmyn_‘_xmy‘n =2cos(ma+nl3)

o ko

1 Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

